Fall '04/MAT 117/Worksheet 2  Name: Show all your work.

Use vour caleulator to compute each expression to 8 decimal points accuracy. Write down
the sequence of keys you entered in order to compute each expression, Do not round numbers
in mid-computation.

1. (2pts) VI = [40354189

Sa. Al [Vy]7 [=]

Grovh: (|7 (1/7)
2. (3pts) 23412 _1012= (), (05997462

Seit 9309 ) (11121012 [=]

Gropgh: 2,312~ |.012
3. (dpts) vA31.325= [ 934959543

Scir. 4.3)%315 [=] [Ty ]4[=)

Craph (f{m 29)%(1/4)
4. (3pts) 11.:?5(}1.5?151 = =0 ara0lT 4

Sciv 17 [€s)/ 0.311 [4e5) [=]

el Eaa([?é)/ {‘a& ﬁ"‘_?fj)

5. (dpts) Tng(di{ﬂ;f;%] 0 090505 jp,;}?d

Sciv 4.7- 235 [=)[log)/ (4 )% SL[t5))[=]
Gyl Log (£.17-2.3 s‘f;)/(—q {5.2)

log(3.2 +40.5 - 31.42)
6. (4pts) o8 18|log1‘2:: = |, 79043290

Scv 4.2+ 405+ ’_}jdr'i [_—][&-a]/(lc‘?-ﬂ 15[&1)[“}
Gyl {w (39549 jﬁu|qL) (lé? fru IETJ)



